APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	STEVE SONNTAG	Page 1 of
Project: JULIA ST	REET, JULIA CIRCLE AND BAKER AVEN	IUE ASSESSMENT DISTRICT - 2020
Contract Number:	8514	Payment Number: 4
DO NOT WRITI	IN THIS BOX - TO BE COMPLET	ED BY CITY ENGINEERING PERSONNEL ONLY
TOTAL FROM PAGE:	5	398,526.13
LESS RETAINAGE:		13,007.44
SUBTOTAL:		385,518.69
LESS PREVIOUS PA	YMENTS:	305,781.77
CURRENT PAYMENT	DUE:	79,736.92
CONTRA	CTOR: PARISI CONSTRUCTION C	0., INC. DATE
The under by this are and that the INSPECT	plication for payment has been completed to payment for OR	/0-20-20 20 DATE
PLEASE PROVIDE THE	TIME PERIOD FOR THIS PAYMENT REC	QUEST: FROM: 16-5 TO: 10-19
PLEASE PROVIDE THE (CONTRACTOR/SUBCONTRACTORS TH	AT WORKED ON PROJECT DURING THIS PERIOD:
	AYMENT REQUEST SHALL BE SUBMITT PAYMENTS CAN BE PROCESSED EVERY	

STREET ACCOUNT NO. 12717-402-170 STREET ACCOUNT NO. 12717-402-174 STORM ACCOUNT NO. 12717-84-174 SANITARY ACCOUNT NO. 12717-83-173

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

PARISI CONSTRUCTION CO., INC.
JULIA STREET, JULIA CIRCLE AND BAKER AVENUE ASSESSMENT DISTRICT - 2020
CONTRACT NO. 8514

	ACT NO. 8514 NT NO. 4						1				******		I
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	ACCOUNT NO. 12717-402-170												
10701	TRAFFIC CONTROL	0.47	LUMP SUM	\$2,300.00	\$1,081.00		0.27	\$621.00	0.20	\$460.00	0.47	\$1,081.00	100.00%
10801	ROOT CUTTING - CURB & GUTTER (UNDISTRIBUTED)	40.00	L.F.	\$10.50	\$420.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
10802	ROOT CUTTING - SIDEWALK UNDISTRIBUTED)	40.00	L.F.	\$10.50	\$420.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
10911	MOBILIZATION	0.47	LUMP SUM	\$20,000.00	\$9,400.00		0.27	\$5,400.00	0.20	\$4,000.00	0.47	\$9,400.00	100.00%
20101	EXCAVATION CUT	630.00	C.Y.	\$19.25	\$12,127.50		530.00	\$10,202.50	100.00	\$1,925.00	630.00	\$12,127.50	100.00%
20217	CLEAR STONE	310.00	TON	\$14.75	\$4,572.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20219	BREAKER RUN	380.00	TON	\$14.00	\$5,320.00		173.07	\$2,422.98	0.00	\$0.00	173.07	\$2,422.98	45.54%
20221	TOPSOIL	300.00	S.Y.	\$14.25	\$4,275.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20322	REMOVE CONCRETE CURB & GUTTER	375.00	L.F.	\$4.80	\$1,800.00		0.00	\$0.00	300.00	\$1,440.00	300.00	\$1,440.00	80.00%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	2,025.00	S.F.	\$1.80	\$3,645.00		0.00	\$0.00	1,500.00	\$2,700.00	1,500.00	\$2,700.00	74.07%
20406	GRUBBING	38.00	I.D.	\$41.25	\$1,567.50		38.00	\$1,567.50	0.00	\$0.00	38.00	\$1,567.50	100.00%
20701	TERRACE SEEDING	300.00	S.Y.	\$5.20	\$1,560.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21061	EROSION MATTING, CLASS I, URBAN TYPE A	300.00	S.Y.	\$6.70	\$2,010.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30201	TYPE "A" CONCRETE CURB & GUTTER	315.00	L.F.	\$31.25	\$9,843.75		300.00	\$9,375.00	0.00	\$0.00	300.00	\$9,375.00	95.24%
30208	HAND FORMED CURB AND GUTTER(UNDISTRIBUTED)	375.00	L.F.	\$31.25	\$11,718.75		300.00	\$9,375.00	0.00	\$0.00	300.00	\$9,375.00	80.00%
30209	SPECIAL WATERWAY	600.00	S.F.	\$12.25	\$7,350.00		555.00	\$6,798.75	0.00	\$0.00	555.00	\$6,798.75	92.50%
30301	5 INCH CONCRETE SIDEWALK	1,705.00	S.F.	\$6.20	\$10,571.00		1,500.00	\$9,300.00	0.00	\$0.00	1,500.00	\$9,300.00	87.98%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	475.00	S.F.	\$8.60	\$4,085.00		300.00	\$2,580.00	0.00	\$0.00	300.00	\$2,580.00	63.16%
40101	CRUSHED AGGREGATE BASE COURSE, GRADATION 1	310.00	TON	\$14.75	\$4,572.50		284.56	\$4,197.26	0.00	\$0.00	284.56	\$4,197.26	91.79%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

PARISI CONSTRUCTION CO., INC.

JULIA STREET, JULIA CIRCLE AND BAKER AVENUE ASSESSMENT DISTRICT - 2020

CONTRACT NO. 8514

	ACT NO. 8514 NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40102	CRUSHED AGGREGATE BASE COURSE, GRADATION 2 OR 3	375.00	TON	\$15.75	\$5,906.25		319.17	\$5,026.93	0.00	\$0.00	319.17	\$5,026.93	85.11%
40202	HMA PAVEMENT 4 LT 58-28S	850.00	TON	\$72.00	\$61,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40211	TACK COAT	385.00	GAL	\$2.10	\$808.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40311	PULVERIZE AND SHAPE	2,985.00	SY	\$3.80	\$11,343.00		2,400.00	\$9,120.00	500.00	\$1,900.00	2,900.00	\$11,020.00	97.15%
	SUBTOTALS				\$175,597.25	ı	'	\$75,986.92	ı	\$12,425.00	ı	\$88,411.92	50.35%
STREET	ACCOUNT NO. 12717-402-174												
20217	CLEAR STONE	200.00	TON	\$14.25	\$2,850.00		0.00	\$0.00	44.12	\$628.71	44.12	\$628.71	22.06%
21001	EROSION CONTROL PLAN & IMPLEMENTATION	1.00	LUMP SUM	\$1,500.00	\$1,500.00		0.00	\$0.00	1.00	\$1,500.00	1.00	\$1,500.00	100.00%
21002	EROSION CONTROL INSPECTION	5.00	EACH	\$520.00	\$2,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21011	CONSTRUCTION ENTRANCE	1.00	EACH	\$140.00	\$140.00		0.00	\$0.00	1.00	\$140.00	1.00	\$140.00	100.00%
21014	CLEAR STONE BERM (DITCH CHECK)	15.00	EACH	\$140.00	\$2,100.00		0.00	\$0.00	15.00	\$2,100.00	15.00	\$2,100.00	100.00%
21021	SILT FENCE - COMPLETE	250.00	L.F.	\$4.10	\$1,025.00		0.00	\$0.00	240.00	\$984.00	240.00	\$984.00	96.00%
21013	STREET SWEEPING	1.00	LUMP SUM	\$2,900.00	\$2,900.00		0.50	\$1,450.00	0.50	\$1,450.00	1.00	\$2,900.00	100.00%
21049	INLET PROTECTION, RIGID FRAME - PROVIDE AND INSTALL	15.00	EACH	\$260.00	\$3,900.00		0.00	\$0.00	15.00	\$3,900.00	15.00	\$3,900.00	100.00%
21050	INLET PROTECTION, RIGID FRAME - MAINTAIN	15.00	EACH	\$52.00	\$780.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21051	INLET PROTECTION, RIGID FRAME - REMOVE	15.00	EACH	\$100.00	\$1,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40364	ADJUST INLET CASTING, TYPE 'H' - RESURFACING	2.00	EACH	\$310.00	\$620.00		2.00	\$620.00	0.00	\$0.00	2.00	\$620.00	100.00%
50432	12 INCH TYPE II PAVEMENT STORM SEWER PIPE	231.00	L.F.	\$74.00	\$17,094.00		0.00	\$0.00	230.00	\$17,020.00	230.00	\$17,020.00	99.57%
50741	TYPE H INLET	11.00	EACH	\$2,700.00	\$29,700.00		0.00	\$0.00	11.00	\$29,700.00	11.00	\$29,700.00	100.00%
	SUBTOTALS				\$66,709.00	•		\$2,070.00	•	\$57,422.71	•	\$59,492.71	89.18%
STORM	ACCOUNT NO. 12717-84-174												
10701	TRAFFIC CONTROL	0.28	LUMP SUM	\$2,300.00	\$644.00		0.00	\$0.00	0.28	\$644.00	0.28	\$644.00	100.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

PARISI CONSTRUCTION CO., INC.

JULIA STREET, JULIA CIRCLE AND BAKER AVENUE ASSESSMENT DISTRICT - 2020

CONTRACT NO. 8514 PAYMENT NO. 4

	ACT NO. 8514 NT NO. 4										*****		
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
10911	MOBILIZATION	0.28	LUMP SUM	\$20,000.00	\$5,600.00		0.00	\$0.00	0.28	\$5,600.00	0.28	\$5,600.00	100.00%
20234	HEAVY RIPRAP-LIMESTONE	15.00	TONS	\$53.00	\$795.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20241	RIPRAP FILTER FABRIC, TYPE HR	5.00	S.Y.	\$2.90	\$14.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20311	REMOVE SEWER ACCESS STRUCTURE	1.00	EACH	\$490.00	\$490.00		0.00	\$0.00	1.00	\$490.00	1.00	\$490.00	100.00%
20313	REMOVE INLET	2.00	EACH	\$490.00	\$980.00		0.00	\$0.00	2.00	\$980.00	2.00	\$980.00	100.00%
20314	REMOVE PIPE	240.00	L.F.	\$32.50	\$7,800.00		0.00	\$0.00	200.00	\$6,500.00	200.00	\$6,500.00	83.33%
20335	ABANDON SEWER PIPE WITH SLURRY	10.00	C.Y.	\$240.00	\$2,400.00		7.00	\$1,680.00	0.00	\$0.00	7.00	\$1,680.00	70.00%
50202	TYPE II DEWATERING	1.00	L.S.	\$1,400.00	\$1,400.00		0.00	\$0.00	1.00	\$1,400.00	1.00	\$1,400.00	100.00%
50211	SELECT BACKFILL FOR STORM SEWER	1,086.00	T.F.	\$1.00	\$1,086.00		0.00	\$0.00	1,000.00	\$1,000.00	1,000.00	\$1,000.00	92.08%
50405	24 INCH TYPE I RCP STORM SEWER PIPE	29.00	L.F.	\$100.00	\$2,900.00		0.00	\$0.00	29.00	\$2,900.00	29.00	\$2,900.00	100.00%
50433	15 INCH TYPE II PAVEMENT STORM SEWER PIPE	467.00	L.F.	\$59.00	\$27,553.00		0.00	\$0.00	450.00	\$26,550.00	450.00	\$26,550.00	96.36%
50434	18 INCH TYPE II PAVEMENT STORM SEWER PIPE	278.00	L.F.	\$68.00	\$18,904.00		0.00	\$0.00	250.00	\$17,000.00	250.00	\$17,000.00	89.93%
50435	24 INCH TYPE II PAVEMENT STORM SEWER PIPE	81.00	L.F.	\$80.00	\$6,480.00		0.00	\$0.00	75.00	\$6,000.00	75.00	\$6,000.00	92.59%
50465	24 INCH RCP AE	1.00	EACH	\$1,600.00	\$1,600.00		0.00	\$0.00	1.00	\$1,600.00	1.00	\$1,600.00	100.00%
50499	CONCRETE COLLAR	2.00	EACH	\$470.00	\$940.00		0.00	\$0.00	1.00	\$470.00	1.00	\$470.00	50.00%
50605	24 INCH RCP AE GATE	1.00	EACH	\$600.00	\$600.00		0.00	\$0.00	1.00	\$600.00	1.00	\$600.00	100.00%
50723	3'X3' STORM SAS	6.00	EACH	\$3,700.00	\$22,200.00		0.00	\$0.00	6.00	\$22,200.00	6.00	\$22,200.00	100.00%
50724	4'X4' STORM SAS	4.00	EACH	\$4,600.00	\$18,400.00		0.00	\$0.00	4.00	\$18,400.00	4.00	\$18,400.00	100.00%
50795	PRIVATE STORM SEWER LATERAL	9.00	EACH	\$1,500.00	\$13,500.00		0.00	\$0.00	9.00	\$13,500.00	9.00	\$13,500.00	100.00%
50801	UTILITY LINE OPENING	14.00	EACH	\$730.00	\$10,220.00		0.00	\$0.00	10.00	\$7,300.00	10.00	\$7,300.00	71.43%
90030	REMOVE APRON ENDWALL	1.00	EACH	\$980.00	\$980.00		0.00	\$0.00	1.00	\$980.00	1.00	\$980.00	100.00%
	SUBTOTALS				\$145,486.50			\$1,680.00		\$134,114.00		\$135,794.00	93.34%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

PARISI CONSTRUCTION CO., INC.

JULIA STREET, JULIA CIRCLE AND BAKER AVENUE ASSESSMENT DISTRICT - 2020

CONTRACT NO. 8514 PAYMENT NO. 4

	ACT NO. 8514 NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
SANITA	RY ACCOUNT NO. 12717-83-173						1						
10701	TRAFFIC CONTROL	= 0.25	LUMP SUM	\$2,300.00	\$575.00		0.00	\$0.00	0.25	\$575.00	0.25	\$575.00	100.00%
10911	MOBILIZATION	0.25	LUMP SUM	\$20,000.00	\$5,000.00		0.00	\$0.00	0.25	\$5,000.00	0.25	\$5,000.00	100.00%
20311	REMOVE SEWER ACCESS STRUCTURE	3.00	EACH	\$490.00	\$1,470.00		0.00	\$0.00	3.00	\$1,470.00	3.00	\$1,470.00	100.00%
20314	REMOVE PIPE	15.00	L.F.	\$34.50	\$517.50		0.00	\$0.00	42.00	\$1,449.00	42.00	\$1,449.00	280.00%
50103	RECONSTRUCT BENCH & FLOWLINE	1.00	EACH	\$1,100.00	\$1,100.00		0.00	\$0.00	1.00	\$1,100.00	1.00	\$1,100.00	100.00%
50212	SELECT BACKFILL SANITARY SEWER	1,011.00	T.F.	\$1.00	\$1,011.00		0.00	\$0.00	1,000.00	\$1,000.00	1,000.00	\$1,000.00	98.91%
50227	UTILITY TRENCH PATCH TYPE IV	650.00	T.F.	\$9.00	\$5,850.00		0.00	\$0.00	550.00	\$4,950.00	550.00	\$4,950.00	84.62%
50301	8" PVC SEWER PIPE (SDR 35, SDR 26)	571.00	L.F.	\$100.00	\$57,100.00		0.00	\$0.00	445.00	\$44,500.00	445.00	\$44,500.00	77.93%
50353	SANITARY SEWER LATERAL (SDR 35, SDR 26)	440.00	L.F.	\$22.50	\$9,900.00		0.00	\$0.00	270.00	\$6,075.00	270.00	\$6,075.00	61.36%
50356	RECONNECT	9.00	EACH	\$2,300.00	\$20,700.00		0.00	\$0.00	9.00	\$20,700.00	9.00	\$20,700.00	100.00%
50361	WASTEWATER CONTROL	1.00	EACH	\$250.00	\$250.00		0.00	\$0.00	1.00	\$250.00	1.00	\$250.00	100.00%
50390	SEWER ELECTRONIC MARKERS	31.00	EACH	\$46.50	\$1,441.50		0.00	\$0.00	29.00	\$1,348.50	29.00	\$1,348.50	93.55%
50701	4' DIA SAS	3.00	EACH	\$4,500.00	\$13,500.00		0.00	\$0.00	3.00	\$13,500.00	3.00	\$13,500.00	100.00%
50771	INTERNAL CHIMNEY SEAL	1.00	EACH	\$410.00	\$410.00		0.00	\$0.00	1.00	\$410.00	1.00	\$410.00	100.00%
50797	EXTERNAL SAS JOINT SEAL	2.00	V.F.	\$250.00	\$500.00		0.00	\$0.00	2.00	\$500.00	2.00	\$500.00	100.00%
50791	SANITARY SEWER TAP	4.00	EACH	\$3,000.00	\$12,000.00		0.00	\$0.00	4.00	\$12,000.00	4.00	\$12,000.00	100.00%
	SUBTOTALS			•	\$131,325.00		,	\$0.00	1	\$114,827.50	Ⅎ :	\$114,827.50	87.44%
CONTR	ACT TOTALS				\$519,117.75			\$79,736.92	=	\$318,789.21	= :	\$398,526.13	= 76.77%